=LPDB

*UXSD 5R]INEDG >0 2$56=7%7 7\J

SRQLHG]LD&HN

7N\

$QDUID
VIXNL
ZVSyiF]HV
QHIl Z
= VSyiF]HV
QD NUNINND L
GRNIAQ\
DUNVINF]QH
BIURQFLZL
N $JDID
l&<Xe)
*0
81<7.2:
$ *0
*0
2$56=7$%
7 oo
oo

75<%
="$/1<
(GXNDFID
DUINVINF]QD
Z TDNUHVIH
V]IXN
SIDVINFTQ\
FK
SRIRVIDiH

JRG]
10ICu Z
UDPDFK
NRQVXUIDFIL
1

SIRZDG]aF
\P DICFID

7\J
3UDFRZQLD G\SIRPRZD "HHNID 3DZHi PJU /DVRE $IHNVDQGUD SURI 8- &KXG]IN 7RPDV] *
- *0 - $56=7%$7
JDICFLD K\EUGRZH JDICFID Z SUDFRZQL

=DICFLD JGDIQH 7RPDV] &KXG]IN
$IHNVDQGUD /DVRE 3DZHi " HIHNID




=LPDB
*UXSD 5R]INEDG >0 2$56=7%7 7\J

ZWRUHN

EAN)

3URIHNIN
IZyUFH ]
H) SUDZD
DXIRIVNIHJ
R UZ Gl
%RIXV
6S\ID
ODUTHQD =

l€Xe)
*0
81<7.2:
$ *0
*0
2$56=7$%
7
1GDIGFLD
1GDIQH
]DICFID Z
SUDFRZQL

HURGD

7N\

3UDFRZQID
NVIaTNL

iZ SR
8-" =Wl
=G]ViDZ

*

o
81<7.2:
$ *0
*0
2$56=7$%
7

1DICFID
1GDIQH
=DICFLD Z
SUDFRZQL

F1ZDUWHN

7N

3UDFRZQID G\SIRPRZD GU &]DSRU =DUCED %DUEDUD SURI
8-" -IQF]HN .DIDUI\QD = - *

- $56=7$7

DICFLD K\EINGRZH Z SUDFRZQL Z INJRGQLDFK
3R]RVIDH INJRGQIH

JDICFLD JGDIQH ) SURI = lQFJHN . DIDUT\QD
GU &]DSRU =DUCED %DUEDUD

7\J

3UDFRZQLD G\SIRPRZD PJU §IlZIDN ODUID SURI 8-+
6]ZDINRZVND .U\VINQD ~ - - *0
- $56=7%7

DICFLD K\EINGRZH Z SUDFRZQL Z INJRGQLDFK
3R]RVIDH INJRGQIH

JDICFLD JGDIQH - U\VINQD 6]ZDINRZVND
ODUID §ILZIDN




=LPDB

*UXSD 5R]NiDG *0 2 $56=7$7 7\J
7N
3UDFRZQLD
G\SIRPRZD
DGLXQNI
=DICED
- URIG ~
*
o
-$56=7$%
- 7
I 1DICFD
= K\EUNGRZH
a Z SDFRZQL
N z
A
w INJRGQUDFK
3RIRVIDIH
INJRGQUH
1DICFD
1GDIQH
7N
3UDFRZQLD NUHDFIL ™
UINVXONRZHI iZ SURI 3URVHPLQDUXP
8-" 6]ZDINRZVND SUDF\
_\VI\QD 7DUQRZVND IHRUHINFTQHI
$QQD - =0 iZ SWRI 8-~
- *o0 &KXG]IN
81<7.2:$ >0 7RPDV] >
- >0 o
_ - $56=7%$7 - $56=7$7
T DICFLD JGDIQH JDICFID Z 1DICFLD JGDIQH
o SIDFRZQL
0
$QQD 7DUQRZVND 7N
-UWNQD BURVHPLQDUXP
6]ZDINRZVND SIDF\ Q
IHRUHINFTQHI
iZ SWRI 8-~
= 1QFJHN
_DIDIT\QD
x
- $56=7%$7
1DICFLD JGDIQH




*UXSD SRINiDG

=LPDB
>0 2$56=7%7 7\J

SLCWHN

7\J

3URVHPLQDUXP
SUDF\
IHRUHINFTQHI
Gz SWRI 8-7
6]ZDINRZVND
-U\VINQD >

o
- $56=7$7
DICFLD JGDIQH

7\J

3URVHPLQDUXP
SUDF\
IHRUHINFTQH!
iZ  DGIXQNI
=DUCED = UIRIG
*0

- $56=7$7
DICFLD JGDIQH

6R




